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Which statement is true about Java?

a. Java is a sequence-dependent b. Java is a code dependent programming
programming language language

¢. Java is a platform-independent d. Java is a platform-dependent
programming, language programming language

Select the packages in which JDBC classes are defined.

a. jdbc and javax.jdbc b. rdb and javax.rdb

c. jdbe and java.jdbc.sql d. sqland javax.sql

Data members and member functions of a class are private by default. True or False?

a» Depends on code b True

c. False d. None

Where are the following four methods commonly used?
I. public void add(Component c)

2. Public void setSize(int width,int height)

3. Public void setLayoul(LayoutManager m)

4. Public void setVisible(2oolean)

a. Graphics class b. Component class

c. Botha&hb d. None of the above

What are the major components of the JDBC?

a. DriverManager, Driver, Connection, b. DriverManager, Driver, Connection, and
Statement, and ResullSet Statement

¢. DriverManager, Statement, and d. DriverManager, Connection, Statement,
ResultSet and ResultSet

What is the correct sequence (o creale a database connection?

i. Import JDBC packages. ’

ii. Open a connection to the database.

iii. Load and register the JDBC driver.

iv. Execute the statement object and return a query resultset.

v. Create a statement object to perform a query.

vi. Close the resultset and statement objects.

vii. Process the resultset.

viii. Close the connection.

a. i, ii, iii, v, 1v, vii, viii, vi b. i, iii, ii, v, iv, vii, vi, viil
c. ii, i, iii, iv, viii, vii, v, vi d. i, iii, ii, iv, v, vi, vii, viii

Which of the following method is used to perform DML statements in JDBC?

a. executeResult() b. executeQuery()
¢. executeUpdate() d. execute()

Which methods are required to load a database driver in JDBC?
a. getConnection() b. registerDriver()
¢. forName() d. Both band ¢
Which of the following package contains servlet classes?

a. javax.serviet b. javax.serviethttp
¢. Botha&b d. None of these
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